
4R Maths Homework   Due in Wednesday 29th January 2020 

Focus: Dividing using formal methods 

Part one – Arithmetic questions  

1. 9845 + 9896 =  2.   139 ÷ 100 =  3.   3386 x 4 =  

4.  4

9 
  + 5

9
  = 5.    31.8 + 9.9 =  6.   9876 –99=  

 

 

Part two – Dividing with a decimal remainder  

TOP TIPS! 
 Remember to set out using the ‘bus stop’ method. 
 Put the decimal point at the end of the number in the ‘bus stop’ and on 

top! 
 Add two zeros after decimal point. 
 Then Solve! Show remainder as a decimal! 

 

 

1. 5269 ÷ 9 =  

 

2. 5407  ÷ 3 = 

 

3. 7652  ÷ 3  =  

 

4.  2804 ÷ 5 =  

 

5. 4635  ÷ 4 =  

 

6. 1357  ÷  8 = 

 

Part three – Reasoning question. 

3204  ÷ 5 =                  Will there be an remainder?     Yes      or    No 

Explain your answer.  
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